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INSTRUCTIONS TO THE CANDIDATES

The admission to the examination is provisional
In the event of any information furnished by the
candidate found false / incorrect / incomplete
detected at any stage, the candidature shall
be rejected.

Darken the circles in the OMR sheet
completely with Black / Biue ball point pen
only. Partial darkening shall not be evaluated.

as completely /

i

N any mannes
luid / erasing by
2 evaluated.

be opened until
correctly in this
. . answer-sheet.

The candidate should check the No. of Printed
Pages and Questions along with their Serial
Nos. In case of any discrepancy found,
exchange the defective one and collect another
correct one from the invigilator within 5 (five)
minutes and thereafter no complaint shall be
entertained.

The examination shall be conducted as per
the Odisha Conduct of Examination Act, 1988.
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Each question has four possible answers. Choose the correct answer from
among them and darken the appropriate circle completely in the
OMR Sheet with Blue / Black ball point pen.

| g I8 6 FIFQIQ

EZHILD DEVELOPMENT & PEDAGOGY

6000 OQ 969 ?
(A) TS 9@ 1LV gl

(B) QQI4 99 QAIFNIES AT

(?/ ARG NG 6PRR 26T
(D) cQugesa FREa 22 6e

QU@

URCYRE 76418 699 9T ee ?
(A) ede

(B) <IQud@

(C) ueede

(D) QKex

qeedi? dIdig F2RIaIQ e 609
delaa gg aoi6el @99 ?

(A) Q89 Jer

(B) fQQIQR

(C) eagl@gen :

(D) Qe 89

Which one is not correct ?

(A) Development is a life-long
process

(B) Development always takes
place uniformily

(C) Development is individualistic
(D) Development does not stop at-

maturation

Which process is the motivation ?
(A) Mental

(B) Physical

(C) Emotional

(D) Social

What type of questions should the

teacher ask to identify creative

children ?

(A) Divergentthinking ,
(B) Diagnostic

(C) Covergent thinking
(D) . Activity based
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(A) ORI
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(A) eC8o QR0
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(C) ecoR QRero
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child ?

(A) Lack of interestin study
(B) Mentally unstable

(C) Lack of adjustment

(D) . All of the above

Which one is associated with

‘Disckessia’ ?

(A) Reading disorder
(B) Mental disorder
(C) Hearing impaired

(D) Behavioural disorder

When did the integrated education

"programme start in India ?

(A) 1950 to 1960
(B) 1961 to 1970
(C) 1971 to 1980
(D) 1981 to 1990

In a motivated learning situation the
learner:

(A) Becomes interested to ask
questions

(B) Memorises the lesson by
cramming

(C) Prepares himself for the exami-
nation

(D) His memorization and

forgétting becomes equal
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(A) QagNe
(B) 6ReRe
(}Z) QoI

(D) <YeqIe

6QQ% 6919 98 0P 94

6€ ?

gﬁzf QR GR6AR 6R6QIT B4IY BYIgl

QR ?
(B) 9ga Iy 6ms
(C) o*a eaedIdel end |

(D) 6qlISN QIFQ FAR VIR FRR

QeI |

QPRI FR AITISA 2 AUNER 6969

218 6RINRR ?
?)/ 2005 — 2006

2006 — 2007
(C) 2007 —2008

(D) 2008 —2009

8.

10.

What type of evaluation is the

entrance test ?
(A) Summative
(B) Diagnostic
(C) Formative

(D) Placement

Which one is not a free response

type question ?

(A) How many gases are released
by a tree during day timé (

(B) Write the functions of leaf.

(C) Write the use of water.

(D) Explain how a piece of stick

can be used.

When did multi-lingual education

programme start in our state ?
(A) 2005 - 2006

(B) 2006 —2007 '

(C) 2007 —2008

(D) 2008 — 2009
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11. 2011 @REER AGALR 2UIF 6269 AR 11. According to 2011 Census of our

AN 210 6960 ? country what is the literacy rate of
women ?
(A) 60.46
(A) 60.46
9,_50.64
(B) 60.64
(C) 65.46
(C) 6546
(D) 75.46
(D) 75.46

12. 60Q0 dg-638e daIQIe 1e° &34 12. Which of the following is not

asde ges 2 related to child-centred teaching and
. learning ?

/(A—) JREIFPE D6 GRQ YIIR (A) Emphasis on learning

L experience
(B) Qirige A9 U6 gQ IR :
(B) Emphasis on holistic develop-

(C) Q-GS AUER FQQ YRIP ment

= (C) Emphasis on self-learning
(D) 64461 dAIQIe @deq Q9

(D) Emphasis on class-room

200 teaching
13. 6090 JRILR Q AR gsif? 13. Which one is not an evaluation
» tool ?
(A) 6oma

' (A) Checklist
(B) 6Q%G° 6aQ
(B) Rating scale

(C) egiegq @@ (C) Progress Card

(D qeeidy (D) Home task

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

14. 69QC aIa8 d96Q 6QAIANR 6L ?
(A) QAR CARR
(B) QOIQ ARIGAE
(C) daI12 5Qad
(?5 RIS T°GOR
15. 6e@¢ ud 9g9fé dsea eQ@R
Q68 ?
(? g8
B) <dea
(C) MIsNIRAE
(D) gede
16. 6Qad Qg ora 2R AEe e
AHRQ ?
(A ateqe
(B) a@Ia
(C) aR6exaR!

(D) Q2901

17. 6096 9@ QY 2&egQdll ?

(AJ edg

(B) g qsaig
(C) age

(D) 2 QAP

«
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Which one is not a step in experi-

mental léaming ?
(A) Sensing the problem
(B) Defining the problem

(C) Drawing conclusion

(D) Construction of knowledge

Which one is not a step of
meaningful Ieérning ?

(A) Engagement

(B) Explanation

(C) Illustration

(D) Demonstration

Which of the following is

related to the learner’s hand-
writing ?

(A) Maturation

(B) Family

(C) Environment

(D) Peer-groups

Which one is the extrinsic motivation ?
(A) Punishment

(B) Self-satisfaction

(C) Interest

(D) Self-esteem
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18. 69Q6 8040 ged g6< ? 18. Which is not a nature of learning ?
(A) @64y (A) Purpose
@/ Q0Q-Q1FQ (B) Limited to Age
(C) <@a (C) Active
- (D) QAR (D) Universal
19. 696 O] ggﬁ;': 19. Which one is not correct ?

e " o 2 (A) Showing impartial attitude
}Af) dlg g0 7acdQ eI 6dI8E @l

towards the children

(B) €9IS. 948 a1 94 qgce (B) Praising a child before other

gerdl @8l children |'

(C) 549 LRIAIRE 2RHER GPRI & (C) Not comparing a child before

other children
QaQ
(D) Not giving maximum scope to

(D) dgQ AN 9ga @ 692! the child

20. ““‘zQ®el 6 gdsd QI UeEse 20. “Learning is the modification of

afeee @ dadg I 9@ adf &y behaviour through experience and
QgIRelem ? training.” Who stated it ?
jﬁ*’)/@ﬁlﬂlé (A) Hilgard-

(B Gaa (B) Skinner

(C) MR (C) Cavlin

(I;)) 6516'd (D) Gates
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(A) e

(B) aaigd

C) gRuIge

(p{ adieens

IR ZHIR 60Q gRal QIel 2°60e
62121 ?

& aaise

(C) edde

(D) dQAFALR

6906 dulces 691fe Felda
ANAIRRE A2 IS ?

(A) 2ig RIS
(B) <age

(C) @aal

(9{ gSNBIRQE
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l ke I — M I
Which of the following is not a

continu?us process?
(A) Motivation

(B) Learningﬁ

(C) Development

(D) Growth

Which of the follo;ving is both
qualitative and quantitative ?

(A) Study

(B) Experimentation

(C) Evaluation

(D) Observation

By which process does the growth of

the individual take place ?
(A) Social

(B) Biological

(C) Educational

(D) Continuous

Which one is related with the assimi-

lation of Piaget's cognitive develop-
ment ?

(A) Self-cognition
(B) Accommodation
(C) Imagination

(D) Perception
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25. 626 “Cephalocaudal” 3916 ARG 25. Which one refers to “Cephalocaudal”

qoIQRlig ? development ?

(A) 629Q 98 2L (A) From centre to head

(B) €9 6die aieg (B) From head to toe

(C) 629Q ogsalg (C) From centre to periphery
PRl (D) Allof the above

26. eI JAMAIF TYAAIR 699 UFT 26. Which method is suitable to identify

SRR SRR the gifted learners ?

(A) g8 acigs (A) Intelligence Test

(B) <daee adicead (B) Teachers observation

(C) go1 aqiae (C) Achievement Test

) eceqis ane (D) Allofthe above

27. Gdi6RaE F96Q gae @9 26 ? 5T, Who was dhe prepounder of
(A) 6e6q obsrvational learning ?
(A) Gates
(B) <ligel
(B) Bandura
LQ/%QQ (C) Skinner

< »
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SEI —-A |
28. 60w JUE 9F 6 FRHQ anG1e Q6% ? 28. Which principle is not associated
a n with growth and development ?

(A) Fesady

(A) Principle of continuity
(BY <@odydu
(B) Principle of contiguity

C) 9194 S
©) . (C) Principle of integration

(D) geaaiaas Sy (D) Principle of segregation
29. 699¢ Qoa S8IQ F689Q §6€ ? 29. Which is not a feature of special
(A) F8a Gesn dais Rda goa education ?
Mo (A) Special school for specific dis-

- e r & e abled learners
(B) @83 Q80 daie 819 8da

u (B) Special educators for teaching
do!] 999
disabled learners

}é) JERIR 6561160 ATRAER 9 © P&

(C) Each class should consist of
dg121 Q89 e
atieast 20 learners

(D) dAEAAIRE Aol R SRR (D) Provision for vocational training

el for such learners
30. 6QAC 2RI gRIQ 9Y 6% ? 30. Which is nota Recognition type test ?
(A) <eyIaey (A) TrueandFalse
36)/ A G& (B) Sentence completion
(C) 99 69RR (C) Matching
(D) <gdee (D) Multiple choice
JA - 1A/107 (10) (Continued)
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>

gIAe gegee 29g ‘@gede

Fenaq’ aF 9@ gea 3498 coa

QIQ83, QP gaIae gay 8 gy
ARGl 9Q 629 QT | 919 AW 66,
691G 6960 | 6QFlER RIS 6%
Iy 2T QUe QAL 1@ FIP
AIRQ-2YTE AN IS B 6Q8
JdaNQ FIQAIG TR AR £AIER
68 RQASA | RIB, dF, a¢,Qial 8
OREIR ZRIRER 6P 6ACER 6T
A6RRR QAR FAsaazen | 6a2ea
Qg QYRI, ALPARIQ IR VITYQ
Qqgal |

969 26T 699 6NANS
Q°ARER A FQ6T G121 AR L

JQae @gf QERI0IQ 6960 @] ?

4 ATANTT

f A AN

31.

4@ 3¢’ 6QIRININERARE NRAITR
AGeER! | ‘Sgeen’ WNGIL FgeEQ
Q@ RIS S8R | 6TIRNNEHARR
‘9@ ¢’ QL6 Q€I G
aggeIeITa @ gafadgd 2dde

QURRIA IT6Q QI 2R A& KRS

3 JAR IFER ANR QAR 2R
AgQIeIQ QfQl | FEFTA 691G
S —— e

QNS S IR ARIER| DA Y, 9
QOIS QU QLR AARER! &

| Q CRORIQ QF, 068 AITIA | 26

dRIeYIR B QPQAR @Ee 28 AdG
2 IR UACRER TFE 621
QT |

2Ie §IgRE 2IFP 2’6 6IIRES ?
(A) 9099

(B) "ecQd

Gy Q998

(D) 2N’
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32. “‘egele geaee’ @19Q aIA ge-
gessa 6ad QIPa o0 6@ ?
(A) QEaIR
(B) @feQ
(C) gaid
(D) Qg
33. Qfg gaQia adeg 2IQ gegeedd
SR AER IR QAY6A QDD ?
(A) 62QI6R 2R YRT 621R2RIQ
(B) - 6Q¢16% 21 YS! 6QFRNQ
(C) QPR F6ue QP6Q 6301 @Sl
6RRQIYAIQ
;D) QAR QR 6TEQINICR g6l
QQEAQ
34. 2IFa Y CQUARNAECHIR 6RAYRIN

ageaql ?

(f() QIR
(B) <IegiRie
(C) QMU

(D) eiewle
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(Mm@a@ié
(B) @lawIe
(C) ol
(D) <Qeeasl
ac 998 @0I8 aIoNd 96% FUILINAS

gq (8°. M9 @ @°. ¥o) géea waa

emel
671QQ 6¢19¢ QYId QARIG RIRA ARA!,
62 AR 9RYQ, 6B G @R YIS
Q@Ye T6Q 964 | 69R 7 98Q qadn,

@eal-Fayi-ge f16d Il F6q UA-90

Qg8 FIee RI6 FIeR ‘QF’, ‘ANRIQ’
9@ YRR AR UAREH F18 629-9F,
‘YR’ QeI 652 J6Y FIF AR VI,

e, gl Fleyl @6 AGe3 6RI6 69T R |

6Q9R 64IQ QIR AIF Y2 IR RU6D,

FIFAR gR QIR o 26 @8 FaIds,
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QIRLIe FAUIBEE coQ 28l ZIAdl 196] (C) Qge Qfasa
3ag6a Jdinsn e6aIaa a°giA §-a9 | (D) eveRIsT geliads

-~ < - » _—
5 s 7
AIRRQ AGINNG TG A ARG, 39. QUYIQQ @RI 64 @&l JSIRYUSR

692 64 6TRIEY T6E ARSI IGR CANER | ¥ e
@/ oag A°gia
36. UQEIQ RYQ 9EARANP AL TR

‘ (C) €ue1e Q°gie
26 ?
(D) <QIRQY Q90 A°ge
(A) 2RY 92 RISIQ
40. UREIR ERVRER 6RRIG FRIF AR
(B) &2 adea JRIg Ol RAAQ ,
QRS 27§ ?

(C) Q2 2LRIQ €N = N
(A) aga aIee dwlagrsa 2yde

D) ud @8 eiReig 629iQ

37. 6RQeR AURdeR SIEE AR ? )5} 2°QqI-FleNIR €@ QAU

A) ol gaal aig (C) AIReR AN F91TQ. 629UQ

(B) ae aeal g (D) @6QYa QU 6a2 26 Y
RAUAQ
(C) A09IE IR

k. . | 41. 6edal-9ela Faaieldeqla a4
(D) FRIANLARER AFG RGIAR AR

<

a7
38. qdige AR AR QAYY QA QIdY A aal
QIR ? (B) @l
JA)  26NQ AHee RR2UER ) =Rl
(B) P8 o *A2Y6M (@) ggdl
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42. 6Q9% 080 09 96% ?
(A) 694I%
(B) 63@a
Sy oay

(D) gen.

43, 6905 369848 9 ?

(A) Foued
B QS
(C) @gsel
(D) Feee
44, G QAT QY :
(A) ¢ QI6a 968 GRIGET 6QTR |
(B) 920 dRIFIER Q9QR 62Ia
a@2iea 661gad |
(C) 6Qdier Yael Q8 68 AR
o - s
6QIQ ALER |
(D) €10 2ERER AARIR PREIFAR
egl QAR CRIER TACAFE
626M |
St ya
T 0@ jg . (F'QGD‘ D
JA - 1A/107 G Qﬁ ¥ (14
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45. 9g9Q 6969 @@6R @8 — 9@ zd

46.

47.

UIRYQ! CRIVEIT Q61 ?
(A) <5Iec @R

(B)- 929 AIFS ARVQVER AR6EH

Qe
(C) <=Ig 601RE gLId
(D) ol 6QIRIR Sl TRl
69I% AUER RV — 1@ QPea 2l
@87
(A) aQRUsY
939 Q8¢ QUER P3G
(C) Jaeg @@ bl -
(D) ¢< ex <al

629 QUGS O3 AR AUNYER

QRLE 62IRUIER QIR ?

(C.ontintied)
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48. 630600 — 990 996 9oy Fead 51. glafie 26 AIgaIS! IS4a 6906

» A REY 96 ?
RER SIQ ARG 629 ? -

(A) 994 @Q0IQ IQIF QARIP

—~

(A) Q101 + &
(B) Q0P Q80Ia 318 QRIS

—

(B) Q@0 +¢
(9/6@‘?}@@9 Q8 Qe

C) {90l +4 A S
() - (D) Ade PVOIQ FRUE AR

6IREO + 9 e i
(/D)} “ 52. 6QaG QPAUITT AT QRRAIQ QAL

s e > 9
49. 69a QLT QETE] ‘E]@‘_El?}_@ ® N

(A) QeIG AIoYgeR 990

(A) QARAS!
(B) QIGQIGS UV QU YRR
(B) MeeaQl
LC/) 25501 RUEQ YRQ @ 629
(C) 216009l < .
(D) 2EFSTI QU6R QY IR
(p{ 6RERAQ & .
53. engll FrIeR 614 99 22 2R Q]
50. 69Q0 2910 go9R Q6L ? QAQIg gOR! 699Ig 626R 6QY 89
QaQg ?
(A) Qg
J&) ago (“ )
(B) @@
(B) «uid (=)
26Rad
@ ©) . @91 (,)
(D) dga D) <81 ()
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‘608l AP cRcolg Yata’ KRVIG daig
ARIRQI QIR 6FR AERFY AR 621N
Qe ?
(A) 26da NS
(B) 6QlE@@ I8
/é) Areoe Ial4
(D) &iQite Iad
6Q96 g8 49 ?
(A) aqsr
(B) 1989
(C) qeg
(P) o0@
6@R IHIE Auee dQI86a q'@mé £
Q1@ 7
(A) 99 2IE 69 Y96 6T
(B) 2RIGILIG 69 YAIG 6MEIS!

((O)’ QAIYSER 92

(D) 6815 68I¢ YT 8 6AJIRI

60R6 BaSIRe a8 Q6L ?

W’ Qae!Ig
(I?/f Graa ag

58.

59.

60.

WtsApp/Call- 8596976190

SElI —A

(C) QIdyRe 99

(D) QGRS 9Q

RAQUOR QIR 699 QRS ARE
62IR2IN ?

(&f QgIgR 9 g9

(/B')/ A00IrgQ NRERIX FEIF! 621NN
(C) efIagee gt 9a g9

(D) @SR ANIAQ AGIE A6

62296 Q4I4F FRFROQ QUL
Q6L ?

(A) gomsie

(B) @afge

@ GRS NN

(D* 90 doR

6OlISY dR, 99 Q QR ALK
Q208 cea 09 64208 UREGsR
2R 48 J9 Q1 QIRIQ MR KA

JRIEg GRIGER GiRl 64 IR 99

69Q 7
(A) Q41904 e
(B) gMARRRE IR

(C) 60a@gee

‘D) Q8I8 7ee
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61. Pick out the grammatically 65. Pick out the error part of the

acceptable sentence : sentence :

(A) Alas, the poor man is dead. The call ofthe seas have always found

(B) Alas the poor man is dead ! (A (B)
VAlas | The poor man is dead. g an echo in him.
(D) Alas, The poor man is dead. A (C) (D)
62. The French army 66. Identify the grammatically acceptable
defeated at Waterioo. sentence :
(A) is (A) He gave some informations.
(B) are (B) He gave me aninformation.
(pf was : (C) Hegave aninformation to me.
Q) were (9 He gave me some information.
63. ! N o
il L sy 67. What time is the news
school.
M7
A) were gettin
(A) getting A in
(B) get
(B) with
!ﬁ{ are getting
(C) on
(D) got
(9) at
64. Which one of the following sentences
. ke whenlgotup.
is acceptable ? el L
(A) ,He didn't never go to school. /{ﬁ) ek as
M Never he goes to school. (B) israining
(C) He never goes to school. (C) rains
(D) He goes to school never. (D) willrain
3
1A 41 AIANT f A I mndiimn cm AN
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e e
69. Many Indians demand to boycott 72. The productive skills of a language
goods. are
(A) Chinese electronic beautiful (A) reading and writing | :{
(B) electronic beautiful Chinese })_ listening and speaking
IB’j/beautifuI Chinese electronic (C) reading and speaking

(D) electronic Chinese beautiful (D) speaking and writing

el L e 73. The use of punctuation is a subskill

person.Heis____S.P .
A) a
i E{BT (A) listening
(B) an
) (B) speaking
(C) the

(C) reading

(D) some
(Df)/writing

71. A child studying in Class V says, ‘|

a - 74. Formative assessments are
drinked water.

_— i ‘conducted
It indicates that the child...........

l1th h r
W has not learnt grammar rules (A) alithrough the course

properiy. (B) atthe beginning of a lesson
(B) should memorize the correct mtthe end of the term
sentence. (D) atthe end of the session

RGN i e or 75. Continuous comprehensive evaluation

making past tense verbs show- '
emphasizes

ing that his learning is taking
(A) process evaluation
place.

B) term-end evaluation
(D) is careless and should be (B) tem-ende

taught to be conscious of its (C) productevaluation
errors. (/D)/ summative evaluation
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_ | SET-A |
76. Learning of English in India as a The above writing activity.in the box
second language has been so im- ——
portant since
(A) guided writing
(A) - English is a foreign language.
: B arallel writin
(B) .-English is an international (.. P .
language. (C) controlled writing
(C) People speaking English are Q})/"’free writing
highly honoured.

79. | Sarvesh is about forty five / and his
(D) Indiais a multi-lingual countty.

hair / is starting to go grey /

77. Onafour-lined hand-writing paper, all

Readi ording to the division of
the capital letters and the numbers Sl e bttt L

are written in ' the above sentence in the box is
(A) lowerthree lines called

W upper two lines (A) word reading

(C) upperthreelines (B)phrase reading

D) middletwoli
) YN (C) chunk reading

78. Activity : Fill in the blanks in the (D) clause reading

following letter.

80. The pronunciation of the word ‘take’

Dear :
We _________ our holidays in Ooty Is
very much. Usuallywe_______ for (A) [taik/
R
long walks everyday e scenery ‘@)/ el
marvellous. Py
(C) /taek/
Wish, you were here.
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Direction (Q. Nos. 81 to 85) : Read the
passage carefully and answer the
questions choosing the correct

alternatives given below.

When | was a boy, | liked swimming
very much. One year my two brothers and |
spent the summer holidays with my uncle
and aunt in their house by the sea. It was
only twenty yards from the water. Every day
we put on our swimming suit before
breakfast, ran down to the sea across the
swgd_j_gmgqj in. From then until
evening we were in the sea or on the beach
most of the time. When our aunt rang a bell,

we went back to the hguse for food. After

food we were back in the sea.

The water was warm, the sun shone
every day, and most of the days there were
no waves. In the middle of the day a wind
always began to blow but it was not strong

enough. So itdid not make the sea rough.

81. Thethreeboysliked_______ very
much.

(A) playing on the sand

(B) boating on the sea

JA - 1A/107

82.

83.

84.

[ SET-A |
(g{ swimming in the sea

(D) cycling down the hill

One year they' spent  their

with their uncle. '
(A) Christmas holidays
(B) winter holidays

(9/ summer holidays

(D) school holidays

They put on their swimming suit

(A) afterlunch
(B) after breakfast

@,—before breakfast

(D) aftertea

When their aunt rang a bell, they went

to the house for
(A) sleep.
(B) study
4€7 food

(D) swimming suit

(Continued)
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85. The word ‘rough’ has been used in

the given passage. Its opposite is

(A) violent
(B’) calm

H

(C) strong

(D) dangerous

Direction (Q. Nos. 86 to 90) : Read the
passage carefully and answer the
questions choosing the correct altematives

given below.

The ostrich is the largest of all birds.
it is found in the grassland areas of Africa.
It eats fruits, leaves and seeds.

An ostrich has wings but cannot fly.
Instead, it runs very fast. It can run at a
speed of eighty kilometres an hour.

Ostrich feathers are soft because they
are not needed for flying. Unlike other birds,

the ostrich has only two toes on each leg.

'86. Ostrich is very popular beacuse

(A) itcan’trun very fast
(B) itcanfly very high,
(C) itisseen all overthe world

93) it is the largest of all birds

JA - 1A/107

( SET-A |

87. An ostrich cannot fly because

}/;\)/ its feathers are soft

(B) its wings are not strong
(C) its eyes are small
(D) its body is heavy
88. Ostriches run at a speed of about
an hour.
(A) 180 kilometres
(B) 18 kilometres

19)/ 80 kilometres

(D) 88 kilometres

89. Ostriches are found in

areas.

(A) dryland
4B] grassland
(C) wetland

(D) highland

90. A vegetarian eats
,(A')/fruit, leaves and seeds
(B) chicken, mutton, prawn
(C) blood, flesh, bone

(D) egg, fish, meat

(Continued)
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MATHEMATICS

69R% 680 4Qa AaFe 6% ?
(A) Fdael

(B) @daga

C e UGy

(C) = S,

(D) QQe%!

ganegdl qdieo dgI6a HY At
QIO NPRA 6206 6I'a 20-I9RgeRR
0 Q% ?

(A) QY AN, Y 6L 8 AR
Q¢

(B) Q°¢liiage, QW Q9 6
Yl SR

(C) QIR Q, A& ASR, @ Al
e

(p)/ca?em QdIR, Aol AP B AR
G ; 5

dde ANIRR 698 URTER URIOQ
RICIQY 964 AYAQ 62IR8INM ?

(A) lsale
(B) a6QIQ
(C) Q6qgad

M 26484

91.

92.

93.

Which one is not related to the

nature of Mathematics ?
(A) Exactness

(B) Specific sequence
(C) Expanded expression
(D) Pattern

Which one is the correct order in the

sub-unit of number identification ?

(A) Writing Number, Counting
Number and Order of the
Number

Wiriting Number, Order of the
Number and Counting Number

Order of the Number, Writing
the Number and Counting the
Number

Counting the Number, Writing
the Number and Order of the
Number

(B)

(C)

(D)

In which method in teaching Math-
ematics one proceeds from unknown
to known ?

(A) Inductive
(B) Deductive
(C) Synthesis

(D) Analysis
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94. ¢QEC UIOAISN QUEAITO QU

Q62 ?
(A) 999, 994 649y 2°996a
dCooR 223
(B) 8mei g< gge 8aa acve 98-
qed
(/cy'a‘ﬂia'mm Qaage g9 990
- adaia edga
(D) JsEiveca 484 QU 8IQ
21990 QALY
F649RS A06a goRIaIR S1gIitIeS
92C QAR 62a6 689 QAgS ?
(A) 9% ausd
(B) eaeR aqiad
(C) dsasqae aciad
(D) 39S H39e adicoad

96. ce@ aedea 9¢ gfde faag

LR ¥ O AN AR
LQUAIQANG ?

(A) aoecqle
((B)/ aieque
(C) Q6qaa
* (D) <eqaa

84. Which one is not connected with the

usibility of the lesson plan ?

(A) Teacherbecomes aware of the
learmning objectives

(B) Leamer, understands the pre-
determined learmning objectives

(C) Pre-requisites of content
knowledge of the learner is
tested

(D) The achievements of the
leamer is evaluated

According fo experts which one is
most appropriate to identify the gifted
leamer ?

(A) Intelligent Test

(B) Achievement Test

(C) Apiitude Test

(D) Personal Observation of the
teacher

In which method are the mathematical
problems solved using pre-
established rules ?

(A) Deductive
(B) Inductive
(C) Analysis

(D) Synthesis
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97. 6Raf gde TR A6 0 A ?
(A) eQu, gRYI9e, BI® 6 geId
(B) =Ie, geaig, 62R! B JRYIGR

(C) geuIaR, geaqid, 6 6 RIS
|9, 6N, gEAUT B JRYIAR

98. 690 AdicVER 6TNIR 6T ?
(A) IeNge aaISd
(B) 6aG°eaQ
Sy asieqia
(D) 999
99. &0 QRAI0Y AN FEATQ 6T
Qe ?
(A) <dic eaRt
(B) <dic gee
(Cy e 99

(D) <dic ges

97.

98.

99.

| SET—-A |

Which is the correct order of
teaching Mathematics 7

A

(B)

©)

(D)

Understanding, Evaluation,
Knowledge and Application
Knowledge, Application,
Understanding and Evaluation
Evaluation, Application, Under-
standing and Knowledge
Knowledge, Understanding,
Application and Evaluation

Which is the technique of observation ?

A)
(B)
(©)
(D)

Standardised Test
Rating Scale
Interview

Questionnaire

Which one is different from

the co-scholastic point of view in

Mathematics?

(A)
B)
©
(D)

Mathematics Fair
Mathematics Quiz
Mathematics Club

Mathematics Project

Pt e T NP P TP ! . ——— — — . W e W R0 -
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100. “clITq Qe ATY 6RIEIQ ARG
QIR 626/ YLl 699 JRIa 3ge 27
42l 69Q g9Ia g4 ?

(A) <gdee

(B) AR

&7 qeesge

(D) Qe (e
101. 29, 2%? q 6@60 @ ?
) B o
W& 26136
B) 4 <, I/Z/

y)'Z

(D) 1

102. Q@ g Q@ ZL;- QIR VUG NER, ANTR

199, 6069 a Q AIR 6R6Q ?

WtsApp/Call- 8596976190

| SET-A |

100. “The measure of all the angles of a
triangle are equal, then what type of
triangle is it ? * What type of ques-
tion is it ? | |
(A) Multiple choice
(B) Recognition type
(C) Recalltype

(D) Analogy type
101. 2(32) is how many times of (23)2 T
(A) 8
(B) 4
C) 2
D) 1

102. If.g is divided by % the quotient

is 1, what is the value of ‘a’ ?

(A) 18
(A) 18 v P
gy B) 22
® 2 .5 "o~
o8 qatE3 ©) 18
ol pet i
(D) —22 & 250 D) -22
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103. T¢] 08-1 @F 2IKGERQ 2IGHR §l6a OF

Qe 6TdY 26 64. §. 6 ge
16 6Q. §l. | 9IQ geaie @9Q 3 6. 4.
Q1d QIg 994 Q¢ 2IFHA TR HSAIR
QIS QUG | 29T RITR HEQ 691G
cHIRIYe 89l 2aeaR e AIg
(5g-2 @F) gge @aigal | <@ aig
S06Q &9 §lIR QIR AR 6960 AR

6d. 9. 629 ?

5
.
(B) 496 (Cz/ /
N
(C) 500 466'
(D) 600

Mme—————

103. A rectangular sheet of card board,

shown below in Fig.-1 is 26 cm long
and 16 cm broad. Squares, each of
3 cmedge, has been removed from
each corner of the paper sheet. An
open cuboidal tray, as shown in
Fig.-2, was made using the remain-
ing sheet of card board. What is the
volume of the open space, ir cubic

cm. available in the tray ?

-

Fig.-1 Fig.-2

(A) 396
(B) 496
(C) 500

(D) 600
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SET-A
104.5¢Q 94 6Q66R, 964 AUIQ NQAIAI 104. The following bar graph shows the
Qe RIgAIR, cTPAR, AIL 8 TR quantity of paddy sold in the month

AIgea S @AY UL AAAEY

*dIgIQE | AF €TQAIAT AIAEQ

SQ6eRIQYQl AIRa IAAE B AR & -
gl P, - dysoldinF

AIFER 9F CRARAS UL IR TIAY qua"t't'e,s.(’f pad, y : N ebmar_y

6 Qeia. 99, 696Q LIgAIST B aicea and April is 6 q-umta s, then what -IS

33 6RIQARI UILA 69IC TBAIE 6260 the total quantity of paddy sold in

of January, February, March and
April. If the difference between

Qe ? F >Y'"" 2/ January and March in quintal ?

& (sr/ &
T
B D v v o it g i ol | ¢ ¢ ormeny om, o B
oo L/ o L/
€ 51 Z IR %
o8 ey 1 s 0577 7
Z 6t / £ &+ / /
ity 0 3ip
i lidgd
G iy
STWRE VR VBN
¢ 11 V7 A | 1A A,

& 2 BENG & E B 3
3 % . ; i 5§ 2 =
g — [‘T" Month—§

A4 (A) 14

(B) 16 (B) 16

(C) 22 (C) 22

m 24 | (D) 24
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‘ @I —A '
105. 2, 3,10, 17,26, > . 105. 2,5, 10, 17, 26,
2099 Gyl QAR 4l 4eidie What are the three numbers to be
Beaiten cod a el agen, A% 09 placed in blank space left in the
6oR ? sequence of numbers given above to
make the sequence coirect ?
(})/ 38, 50, 65
(A) 38,50,65
® (B) 37,52,65
(B) 37,52,65
(C) 37,50,64
(C) 37,50,64
(D) 37,50,65
(D) 37,50,65

106. 691G 99ReR A1839AIRG 64l
; A RO 106. How many triangles can be

€Q60IC gge dRaae ? obtained by joining the vertices of a
% adrilateral ?
A) 5 N -
pre
; B) 6
) 8 ; © 8
() 10 - (D) 10
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107. 661G Q4IRS 3de LTI geqIe

IR ¢3¢y 54 &. | w@Ig 9Ia R
6269 QUG 2R SR 3 §.
QUIRER FIAIR €T | AF
QoI 69T Q9 Y& caISl QIy
2R 24, 6062 EF1IGER 626016 Y
caIQILR ?

(A) 64

(B) 68

72

12 76

108. @64 €QIRIR1 8F 8| ARG ERORG

6960 QIF| 6oa Qden, 6§ 2gl A1
6RIONG 630X QIR IT6R | 6969
TR FORP 6Q60 AV 62 ?

(A) 333%

(M%%
Ws‘g%

(D) 35%%

| SET-A |

107. Each edge of a garden of square

108.

shape is 54m long. In order to
surround it by wire netting, pillars are
to be raised at ihtervals of 3m. If the
raising of pillars starts from a corner
of the garden, what will be the

number of pillars necessary ?
(A) 64
(B) 68
(C) 72
(D) 76

A shopkeeper sold 6 cold-drink
bottles at his cost price of 8. What

percentage of profit he made ?
(A) 33%%
(B) 335%
(C) 353%

(D) 355%

WtsApp/Call- 8596976190
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109. 69115 SQYIRA6R, 2015 dIeHEeR

110.

69116 2128191 Q¢4 160 26 | AR
@salﬁg'eé, 2191 Q°¢yl 20 @fiql 6 219
Q°Gyl 20 QPR ¥E 9d |9 A°EM),
QIQIE A°FIQ 7 g 621 | 6069 2015
daeden @8 FGaa SIQ1 A°Yl

dedsl 2ig A°clii 6REQ AR gmi ?

(A) 100
(B) 90

(o 0
(D) 70
16 98 162.8. oid Qig dia Qéatigéal
QAR TP 66PN AUER CAGRRR MG
IS FEIR QF 64115 2@ 96 2GS BAR
QAR | 692 QP TG TQUIFN 6960
Q. 4. ?

—AT 8
(B) 12

A

(D) 32

S —A

109. In a school, the total number of

110.

students was 160 in the year 2015.
In the foliowing year, the number of
girls decreased by 20 and the
number of boys increased by 20. As
a result, the number of boys became
7 times the number of girls. During
2015, the number of boys was how
much more than the number
of girls ?

(A) 100

(B) 90

(C) 80

(D) 70

16 number of square sheets of
paper each of 1 cm edge were kept
adjacentto each other on a table to
form a bigger square. What is the
perimeter of the bigger square incm. ?
(A) 8

(B) 12

WtsApp/Call- 8596976190
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| T L
111. 6960 oFlQ 25%, 180 ogla 123% 111. 25% of what sum of money is equal

a2 QAR 2SS ? to 123% of T 180 ?
(A) T 120 ] (A) 120

(B) %75 (B) 75

(C) 280 v

& -}

(D)% 90 ) &

112. 6QISY 2GS TGO FF4 cH9R 6Bl 112. The length of a rectangular field is

80 dsq 6 gg 60 A | ¥eia den 80 m and breadth is 60 m. Aroad of

a3 - width 2 m is constructed inside the
de'enl 69w 4oIRdQl 6alio™ dia G
5 bk field adjoining one side representing
de deiedQl @a¢ dIag e 2 (g
its length and two sides represent-
PReIQ QY QR 6RIRE 1 QU
ing its breadtn. What is the area of

QTR 6960 QR ? :
the road in square metre ?

® 362 (A) 392
(B) 380 (B) 380
@ 292 (C) 292
(D) 280 (D) 280

N A e L b L P TN I ame e cmsnom snsms s snsmons s
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6QIEN 2REAR AIgt ¥3a gaa §ioea
cadl, 99 6 @90l QaIes 2 8., 1.5
. 8 1 dca | 9o 9Rgd AR
622/ 500 ATQ 9% RUQ 6R6R, TR
6Q60 AT PP FUER QT ?

A) 1000

(B) 2000 b A
> 3..

( 2500

(D) 1500

QA4ee, 6 am 66 g IA1A o A
deg digl 2IQa @Q, Jaes 9qea
3@. 25 4. oI'gea 65960 4 @. 15 4.
6 Sgieq 40 e IR I a6a ALBR |
A9 6IGN QIHQ BLIQ AT 9F6Q
6Q 61619 AMQ AF QG | 2N, 696

6Q 6960696 7] A9 aeBal ?

N
(A) 3.20pm %

(B) 3.15pm

MZOpm

(D) <QIRE RIQ 6QEAE g6

Lﬁtl-—A

113. The length, breadth and height of the

114.

inner space of a cuboidal! tank are
2m., 1.5 m., and 1 m. respectively. If
a quantity of 500 litres of water is
taken out of it while it was full to the
brim, then how many litres of water
will be leftin it ?

(A) 1000
(B) 2000
(C) 2500
(D) 1500

At 6 am, Satyaijit started his journey
from his house to his Uncle’s house.
Firstly he made his journey by a bus
for 3 hours 25 minutes, then he made
his journey in a train for 4 hrs 15 min
and lastly he made a journey by a
rickshaw which took him 40 min and
he reached his Uncle’s house. At
what time did he reach his Uncle’s
house if he did not waste any time
while changing the vehicles ?

(A) 3.20pm
(B) 3.15pm
(C) 2.20pm
(D) None of these

o
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R QAR FLoa AR 6264 121 Q2R
6OdH Q2 AN} €R6R, YR 92eR

AR SFL 64T 6969 ?
(A) 30°
(B) 45°
(C) 60°
Y~ 120°
62a AT 11 Qo1 FUSY ?
(A) 2864423
(B) 2863423
2865423
(D) 2853423

1@ 29 adya aag 2gq &L eI

SUISTR EREQ 629 7
M25
(B) 237
(C) 239

(D) 240

115.

116.

- o

| SEN-—-A |

If the length of the side of a rhombus
is equal to the length of its smaller
diagonal, then_ what is the measure

of its angle of larger magnitude ?
(A) 30°
(B) 45°
(C) 60°

(D) 120°

Wh.ich number is divisible by 11 ?
(A) 2864423

(B) 2863423

(C) 2865423

(D) 2853423

What is the sum of all the odd natural
numbers from 11029 ?

(A) 225

(B) 237

(C) 238

(D) 240
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9876 Q°HuITea gl 9 @ ARAAR @
dee f1ea A8 9e° 7Q IRIAIe 6

gQorIna A7 FRIER DI 6960 ?

A 8932

119.

120.

(B) 8392
(C) 8931
(D) 8391
14,213 UM @ QASHiQ Gl : QI : 6 : 7

NG 6RAIREQ M : Al : g : 210 626,
QO1E A°HYIT 6R6Q ?

(A) 25
(B) 28

(©y 35

(D) 105

A8 6268 1.023 6 UReeIA Ga 2166 ?

o 307 1023
A 300 900

308 1021
©) 300 ©) 500

118.

119.

120.

| SET-A |

What is the difference between the
sum of the place value and real value
of 9 and the sum of the place value

and real value of 7 in 9876 ?
(A) 8832
(B) 8392
(C) 8931
(D) 8391

The HCF of 14, 21 and ancther

number is 7 and their LCM is 210.

Thenwhat is the third number ?
(A) 25

(B) 28

(C) 35

(D) 105

Which of the following is the rational

form of 1.023 ?

N 07 m 1023
A 300 ®) 500

308 1021
©) 300 ®) 500
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AREE IRIP

[ ENVIRONMENTAL SCIENCE

6RQ 6IQ6R AIRE gfsaqiy Ane

geINe @Idy <°aIde 621Nl ?

(A) CGRIRER 9940 dIIQ QI-
696R

(B) @-27I2Q AR STIE6Q INGY

CIReRIERER
(C) cIeQl oRdY d8Q 9QaRI-

696R

9}‘)/691@% coReaeR 9fq Qaeg
QQAIQIEIER

6296 67 696198 ?

By ade on

(B) 9AR19 QR

(C) Fadgygeq

(D) QRILES 9@

6RQ @9 Q6AQ FR0IQ AAR 6AQ

adis YERER 9% el A1 guIa 29

Q@ ?
(A) Qg 9@
(B) 2w 9v

(?/GQ]GQF&Q 9

(D) @eanq 99

JA-1A/1T7 -

(54)

121.

122.

123.

In which case, positive work is done
with least resistance ?
(A) While there is electric currentin

a conductor

(B) While a ball is rolling on a
herizontal levelied floor

(C) While aripe fruit is falling from
atree

(D) While a helicopter is rising up

from the ground

Which one belongs to a different

class ?

(A) Frictional force

(B) Magnetic force

(C) Static electric force

(D) Gravitational force

On which day sun-set does not
occur for 24 hours in the region from

the Arctic Circle to the North Pole ?
(A) March 21

(B) June 21

(C) September 23

(D) December 22

(Continued)
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124. 98694 2GR A°QRe L@ AGACEIR

UQUIQ 6AQER F6qIe ARQ 4S8

6206 206a RIBIeada O] AIg Aee

Qg ?

(D)

3Ta{Ts=~ 1T
adyeQuaaae o2y Adeas
QG0 UYL AR

QR0S 22ia S6g94

125. MR 21 dIdIea 6ax 901
q6QIRE 26T ?

agieh :

W J89 dQIAQERER AR QR

(B)

()

(D)

géal's

agI9IRgel faaege °gdasd
efaiad

aeIgiagel 9u9egy de6e
cdaied

dQILINIYL VALY ANAIRS
Oqelee 9elnaied

126. §99 ALLA 696 QA OF ?

WIQE’} — QIR —. 941 —

(B)

PRV
QAT — FAR1 — AR —

PRV

(C) eI — AT — 9991 —

S atatal

(D) 9Qgq — QALY - AR —

AR

JA-1A/107

(55)

| OLI“‘HJ

124. Relating to the study of a phenomenon

125.

126.

of environmental study, mainly on

which one of the following the

degree of correctness of the

inference depends ?

(A)
(B)
(©)
(D)

Observation
Recording the observed data
Classification of collected data

Analysis of classified data

Which ability of a school level leamer
is the best ?

The learner :

(A)
(B)
(C)

(D)

listens attentively while the
teacher is teaching

understands fully all that is
taught

keeps in memory all that is
taught

explains to others correctly all

that is taught

Which is the correct order of
respiratory system ?

(A)

(B)

(©)

(D)

Nasal passage — Trachea —

Pharynx — Lungs

Nasal passage — Pharynx —
Trachea — Lungs

Nasal passage — Lungs —
Pharynx — Trachea

Lungs — Nasal passage —
rhaiyax — Lungs

(Continued)
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127. gRERIFQ 64 2°96Q ¢iay a8e 62ia | 127. In which part of cauliflower is food

QER ? stored ?
9}' e (A) Inflorescence
(B) <8 (B) Stem |
(C) awm (C) Fruit
D) 9= (D) Root
128. 68 8 cATIBe FERIRIQ THR ? 128. Who is scientific aptitude based
0(-- . person ?
AR o (A) Who analyses threadbare

(B) T4 QQ ACEIG ALFER J24 K6Q (B) Who accepts all events easily

- . (C) Who does not give importance
(C) T4 2RQ ASIF9g 9oQ a4 QIR »
to others opinion

(D) @4 2Kel gIes Qsa (D) Who argues unnecessarily
129. 6@@0 OR g6 ? " 129. Which one is not correct ?
(A) 9@ F9] flaqIglea a9Qds (A) Ata particular temperature on
Qeeea Qlee Fdiasn 2980 adding solvent in a saturated

o solution, it becomes unsaturated
AT 84

(B) Ata particular temperature on

(B) 9@ F&a claaiglea 99ds _
adding solute to a saturated

Zodue BR WaRtR EOAE solution, it becomes super-

UTARUB £9

saturated
;xﬁ R URgS 9969 aY QR QIR (C) On heating a saturated solution,
29699 249 it becomes unsaturated
(D) <9 ACGYS 298§ TEIR6R SI2! (D) On boiling an unsaturated
” solution, it becomes saturated
LR

JA-1A/107 * (56) (Continued)
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130. 9@ AAGR AAVTR AR 6TFER :
(i) OORYLRR 6A1IS QKNG QG|
A2 QQINYEIR QIS AR
QG QAR 621 AIENR
(i) goQEegsea eI 2 Tl
Q2 QYIYLea 6AIe AG Q¢
QAR 629 ZIGYR
(i) YORRYLAa geRiR 641AQ
6AlIC QI QG AP QAQIR-
Jeea geoya 6dlRea 6¢Ig

aéﬂlq QG AR 6291 LYK
QUERIB ARIQ
(A) (i) 6 (ii) O 1<* (iii) g@
(B) (ii) @ (iii) OQ we* () @@
(C) (i) @ (iii) O] e (i) ga
}) (i), (ii) a9 (ii) OR
131. 69Q0 TR6QE 2GR QERGY P6L ?
(A) 906 NITY K0
}B)/ adeed godic ede!
(C) 9Geldaa gaal 6249l

(D) 9664 d4 €GP 526 AR
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| SEI —-A ’

130. In case of a balanced chemical

131.

equation :

(i)

(ii)

(iii)

The total number of atoms of the
reactants should be equal to the
total numbers of atoms of the
products

The total number of molecules
of the reactants should be
equal to the total number of

molecules of the products

The total number of atoms of
each element of the reactants
should be equal to the total
number of atoms of each

element of the products

Out of the above :

(A)

(B)

(C)

(D)

(i) and (ii) are correct and
(iii) is wrong
(i) and (iii) are correct and
(i) is wrong
(i) and (iii) are correct and
(i) is wrong

(i), (1i) and (iii) are correct

Which is not the aim of environment

study ?

(A)
(B)
(©)
(D)

To analyse envircnment
To pollute environment
To protect environment

To identify learning technique

of environment
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132. 2I6AINEYTEER 699 THIQ Fdie £9 ?

42| 669 99 gq ?
(A) 9oaeae
(B) 00208
©r Adlentae
(D) o< Fdiae
133. 69090 48 QA S ?
(A) QEIFQ 6 ¢die A6
(B) 640Qia B 692QI
(C) 6geQia 8 ¢ée A9d

(D) 6geQia 6 GerdiQ

134. 69Q26Q IRRIRF @ &I ?
W 2AGuIeS
' (B) o e
(C) <lee ea

(D) daeQ

135. 6208 @c1dq - B 641dQ 2299

Q6% 7
(A) Q6ATIRQ
(B) @@ 9de

(C) 2@ 1dQ

(9{ QUERITR

JA-1AM107

Download Tech Of World App

(58)

132.

133.

134.

135.

| SET-A |

Which is the gas liberated during
Photosynthesis ? Which type of
question is it ?

(A) Recall type

(B) Selection type

(C) Recognition type

(D) Analogy type

Which are energy yielding food ?
(A) Vitamins and minerals

(B) Carbohydrates and fats

(C) Carbohydrates and minerals

(D) Carbohydrates and vitamins

Which does not contain enzyme ?
(A) Pancreatic juice

(B) Saliva of mouth

(C) Digestive juice

(D) Bile juice

Which is not included in Vitamin-B
complex ?

(A) Riboflavin

(B) Folic acid

(C) Ascorbic acid

(D) Biotin

(Continued)
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| SEi-A |
136. 6296 CI0 6QIFFIQA 9@ 62T 136. Which is not a step in lesson
o6L ? planning ?
/(Aj’ - Q688 Q@Y (A) Specific objectives
(B) eagiae (B) Presentation
(C) gauIee (C) Evaluation
;9} geeae ' (D) Promotion
137. 6E4I6Q 699 gRIQ 2adia 9aeId 137. Which type of forest has the maxi-
AR ? mum area in Odisha ?
(A) Qo1 aé—@aﬁég (A) Tropical semi-evergreen
QB)/ Q1A A1 agdsai (B) Tropical moist deciduous
(C) QIB1a 98 agdeaen (C) Tropical dry deciduous
(D) eugeeel QuIGl (D) Coastal Tidal
138. 6P9I6a @aa 38 ¢ Q6As QIR | 138. Where in Odisha are both Sugar and
6900160 2180 ? Cement factories located ?
/(A/ AP (A) Hirékud
(B) aueqizrge (B) Rajgangpur
(C) <9 (C) Baragarh
(D) al (D) Aska

139. 6918 6QQE cqaca 0] QIEL 139. Which of the following can not be

QdIQIQ AIfe QIF ? properly shown on the globe ?

(& 92 gfga (A) Smallland forms

(B) @a (B) Direction

(C) 2ego (C) Location

(D) fRIERAgRIR 2IFE (D) Shape of the continents
JA-1A/107 (59) (Continued)
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JFE6Q NLLIQ FQAIRAIELD ?

(A) Q6
(B) gode
(9,/ AEYE
(b) QIS
141. @219 @Iy A0 62aF 0Q
Q6% 7
(A) I Q18R 8 99 AVRER AT
(B) IGGLR AR IUIQ QTS
(9/ cREQl d°6dl d°66 @ AR
ANREIQN
(D) 6RTSI ANAEA BT JRER TP
142. AQIPQ IS QI0Q 6TRI VERFY ADQ
6900 US F6L ?
(A) 986948 0A9Rea ¢ E IS
(B) 28 6 60dQ YoId crIER
Qae F€a |8l
(C) A6213@ 6adl IS ASR
QAR
(D) S8R 28R JARIGAR 6996Q
AR QIR
JA-1AI07 .,

(60) .

141.

142.

| QI —A l

140. Inwhich method of learning of social

science “zoo” could be used ?

(A) Survey

(B) Demonstration

(C) Excursion

(D) Experiment

Which is not correct in black board

work ?

(A) Teacher to write down in big

letters clearly
(B) Tomaintain gap between lines

(C) To erase quickly without

reading

(D) To read aloud at the time of
writing

Which is not associated with the

understanding objectives of social

science ?

(A) Showing the cause of changes

in environment

(B) Determining the relations
between the economy and the

progress of the country
(C) To draw historical sketch maps
(D) Showing the differences in the

transport sector

(Continued)
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I WK I VY N ENALDL T SET—-A

143. 3R89 6eQ 19 R6EAIE 143. On which riverbed is the Barehipani

PRJAQ AIFQ ? waterfall located ?

(A) QAAR1 (A) The Nagavali
BT saimie (B) The Kolab

(C) 63041 (C) The Baitarani

(D) 9oewer (D) The Budhabalanga

144. 694 QUQR6Q €19 6g6a 9&UI@ | 144. In which coast does rainfall occur

eRIRaAN ? during winter ?
Mﬂﬁm (A) Coromandal
(B) 6@l (B) Odisha

(C) eo=d | (C) Konkan

(D) g (D) Malabar

145, QUQOER AVS QURFIAT AURY AL 145. Which pair is not correct in relation

28910 994a 2°6aId 9AQ 608 6AIGE to the highest production of
5 968 2 agricultural crops with the
~ corresponding states in India ?
AN Sa-anagg (A) Cotton — West Bengal
(B) aig-eaqgeed (B) Sugarcane — Uttar Pradesh
(C) o<le-aIQn (C) Tea-—Assam
(D) GRRVNVNA-ZUIRYERE (D) Groundnut —Andhra Pradesh

146. Qleesa daa 998 alQ gaag 146. Which idea was popularised by

FIVIAQVIFNCE 69Q TIARURIQ YOI the early nationalists to promote
' QQgem ? Industries in India ?
SR qeas (A) Swadeshi
(B) Qi@cue (B) Swabhiman
(C) 2l UsSY ' (C) Laissez-fair
(D) QUB6aD Feau F19ND (D) Anti-colonialism’
JA -1A/107 (61) {ontinued)
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147. QRFKIRG, S0 d90 @9 A°YS YR ?
(A) g gl
(B qeqe 2! &4
(C) @QIe aRRI
(D) @9I96f12dR-AR-Jae
148. QGQI-2IERINFER A°YS IQEQ &9
doa ceingsm ?
(A) Riges @
(B) 691099 @9

AC) 91eed Qg
(D) Q998 sSly
149. 6710 IR AAAR NER 4 Iy
Q08 ?
(A) QU
(B) quIeaa
(C) Qe
}D/) QA6 ARG

150. QIQY 6RMINEAQ TICAINR ANUTDT &4
QLR SIS 7
(A) QUIAT

)(B( QURYAR

(C) QuIeaal

(D) e

147.

148.

149.

150.
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| SET-A |

Who was not associated with the
formation of the Muslim League ?

(A) AghaKhan
(B) MohammadAliJinna
(C) Nawab Salimuliah

(D) Nawab Mohasin-ul-Mulk

Who was arrested for his involvement

in the Kanika agitation ?

(A) - Madhusudan Das

(B) Gopabandhu Das

(C) Nilakantha Das

(D) Nabakrushna Chaudhury

Who does act as the guardian of the

Fundamental Right ?

(A) President
(B) Prime Minister

(C) Parliament

(D) Supreme Court

Who can remove the Chairman of the
State Public Service Commission ?
(A) President

(B) Governor

(C) Prime Minister

(D) Chief Minister
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